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QUESTION 1

Which three security technologies are included in WS-Security? (Choose three.)
A. security pattern injection

B. encryption

C. single sign-on

D. security tokens

E. digital signatures

Correct Answer: BDE

QUESTION 2
Given:

1.

4,
Sun Solaris
5.

99.99

7.
Solaris for Intel

8.
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10.

11.

Which statement is correct?

A. The message is SOAP-encoded because the encoding style is implied.

B. The message is RPC-encoded because in the absence of other specifiers, this is the WS-I default.
C. The message is document literal with type encoding, based on the schema provided.

D. The message is document literal wrapped because there is no encoded type information.

Correct Answer: C

QUESTION 3

Which two statements are true about WSDL 1.1 and the Basic Profile? (Choose two.)

A. WSDL does NOT recommend a specific system for user-defined datatypes.

B. WSDL recommends the use of XML Schema for user-defined datatypes.

C. WSDL mandates the use of XML Schema for user-defined datatypes.

D. Basic Profile recommends the use of XML Schema for user-defined datatypes.

E. Basic Profile mandates the use of XML Schema for user-defined datatypes.

F. Basic Profile recommends the use of either XML Schema or DTD for user-defined datatypes.

Correct Answer: BE

QUESTION 4

A developer is creating a session bean EJB endpoint for a new application. Which three statements are true about the
service? (Choose three.)

A. It needs to be packaged as a WAR file.
B. It needs to be packaged as a JAR file.
C. It needs to be packaged as a .lib file.

D. The class must not be final or abstract.
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E. It must implement the javax.ejb.SessionBean or javax.ejb.EntityBean interface.
F. It can be declared an EJB via the @Stateless annotation.

Correct Answer: BDF

QUESTION 5

Which two statements are true about Java clients that use a security token service (STS) supported by the security
features of WSIT? (Choose two.)

A. The client only requires a keystore.

B. STS requires a default user name configuration.

C. Using an STS-issued token requires a keystore and a truststore.
D. HTTPS must be configured.

E. An authorized client receives a token digitally signed by the STS.

Correct Answer: CE
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